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Bapuanr 4

3apanme 1. [IpounTaiite u nepenumnTe NPeII0KEHNS, HCIIOIb3YS HY)KHYIO
dbopMy mpuuactus, oOpa30BaHHYIO OT Tjaroja B ckoOkax. IlepeBenute mpenso-
YKEHHsI HA PYCCKUU A3BIK.

1. After graduating from Cambridge, Newton worked there as a tutor. -
OxonuuB KemOpux, HptoToH paboTan TaMm peneTUTopoM.

2. The instrument use is very reiable. - Mcnoap30BaHne HHCTPYMEHTA OYCHb
ya00HO

3. Built in the middle of the last century, the British Museum is situated in
central London. - [TocTpoeHHbI B cepeauHe MPOILIOro Beka bputanckuii myseit
pacrosnosxeH B ueHtpe Jlonnona.

3apanme 2. Ilepenmumre npemioxkenusa. [IMCBMEHHO mNEpeBENUTE UX.
HOI[LIepKHI/ITC [IpU4aCTuC U B CKOOKax YKaXXUTC, KaKYIo (bYHKHI/IIO B IIPCIJIOKCHUU
OHO BBIITOJIHACT.

Model: The man waiting for you has come from Paris. — UYenosex,
OKMIAIONIMIA Bac, mpuexai u3 [lapmwka. (PyHKIUS — onpe/ieieHHe).

1. Thermal analysis concerning combustion involves the heat and the
temperature. - Tepmuueckuil aHanu3, KacaroUIUICS TOPEHHS, BKIIOYAET B ceOs
TETUIOTY | TemnepaTypy. (DyHKIIUs onpeeieHus)

2. Each disk carrying the moving blades is perforated thus maintaining
the same pressure on both sides of the wheel. - Kaxnpiii muck, Hecymmii
JNBIDKYIIMECS]  JomacTd, mnepopupoBaH, dUYTO TMO3BOJSET  IMOJACPKUBATH

OJIMHAKOBOE JaBliecHMe ¢ o0eux cropoH kojeca. (Carrying — dyHkus-
ompenenenus;; perforated — wdacte ckasyemoro; maintaining — QyHKIHS-
00CTOSATEIHLCTBA)

3. When asked he brought the papers. - Koraa ero cnpocuiu, OH MpHHEC
oymaru. (OyHKIHS 00CTOSTEILCTBA)

4. Oxford is old and historical because it has existed since 912. - Okchopn
CTapbli U HMCTOPUYECKHI, MOTOMY 4TO OH cymecTByeT ¢ 912 rona (Dynkuwms-
OTIpEe/ICIICHN)

3aganue 3. [IpounTaiite nmpeaiokeHus, MMCBMEHHO UX IepeBeanTe. Haimure
Y TIOJTYEPKHUTE B HUX HE3aBUCUMBIN MPUYACTHBIN 000POT.

Model: My colleague being away, | had to take the decision myself. —
Tak kak Mot ToBapwuill Mo paboTe OTCYTCTBOBAJ, MHE MPUIILIOCH CAMOMY MPUHSTH
pEIIEHHE.




1. The inventor was demonstrating his new device, with the workers
watching its operation attentively. — M3o0perarens AeMOHCTPHPOBAII CBOE HOBOE
YCTPOMCTBO, a pabouyre BHUMATEILHO HAOIIOaIu 32 €ro paboToi.

2. Hydrogen consisting of discrete particles is a molecule, each one made
up of 2 hydrogen atoms. — Bogopoz, cocTosiuii W3 OTAEIbHBIX YAaCTHII,
MPEJCTaBISIET COO0M MOJICKYNTy, KaXaas W3 KOTOPBIX COCTOUT W3 2 aTOMOB
BOJIOpOJA.

3. The first question of the agenda having been decided upon, the
conference passed the resolution. - TTocie Toro kak ObUT pelIeH HEPBBIH BOIPOC
MOBECTKH JIHS, KOH(EepEeHUUs IPUHSIIA PE30IIOLHIO.

3ananme 4. [lepenummre npegioxenus. [loguepkaure THOUHUTUB U yKa-
KUTE, KaKylro (DYHKIMIO B MpeIOKEHUH OH BbimoyHsgeT. [lepeBenure mpensio-
YKEHHUSL.

Model: He stopped to speak to Mary. — OH ocTaHOBWJICS, YTOOBI
OroBOpUTH ¢ MapH. (PYyHKIHSI — 00CTOATEIHCTBO LEJIH).

1. The tubes to be made of this metal will be used in different kinds
of boilers. - TpyOsl, xoTOpBIC OYIyT H3TOTOBJICHBI M3 3TOTO0 METalIa, OYyIyT
UCIIOJIb30BATHCS B Pa3IMYHBIX TUIAX KOTJIOB. (DyHKIMsI — YacTh cka3yemoro)

2. An economizer and an air heater are provided to cool the products
of combustion to the low temperature necessary for high efficiency. - Jlns
OXJIQXKJICHUsI MPOAYKTOB CrOpaHHsl A0 HU3KOM TeMIepaTypbl, HEOOXOOUMOMN aJis
o0OecrieyeHrss BBICOKOM 3(P(EKTUBHOCTH, TNPEIYCMOTPEHbl HKOHOMal3ep U
BO3ayXxoHarpeBarenb. (DyHkiws — YacTh COCTAaBHOTO MMEHHOTO CKa3yeMOoro)

3. To master English we must work regularly. - YrtoOwsl oBiameTh
AHTJIMACKUM SI3bIKOM, MBI JIOJKHBI PETYJIIpHO padoTath (OOCTOSATENBCTBA LETH)

4. The radar detects the stationary objects ahead of the car to warn the driver
about them and slow down the speed. - Pagap oOHapyXuBaeT HENOIBHKHBIC
OOBEKTHI BIEPEAN aBTOMOOWJIS, YTOOBI IPEAYIPEAUTh BOAUTENS O HUX U CHU3HUTH
ckopocTh (OOCTOSITENBCTBA LIEJIN)

5. We had fresh water to drink. - ¥ mac Obuta mpecHast Bojga IJIsl ITHThS
(ITognexaree)

3aganue 5. [lepenmmute npemtoxkenus. Onpenenure Complex Object/
Complex Subject. IIpennoxxenus nepeBeanTe.

Model: We know Professor N. (him) to be a good specialist in this field. —
Msbl 3HaeM, uto mpodeccop H. (oH) xopormimii crenudaniucT B 3TOH 001acTH.
(Complex Object).

1. They had the man do what they wanted. - Ouu 3actaBuin 3TOro 4eaoBeka
nenathb 1o, uto onn Xotenu. (Complex Object)

2. We Dbelieve it to be the best way out of this situation. - Msl cuutaem, 4to



9TO JIYYIIUH BBIXOJ U3 cioxuBiieics cutyamun. (Complex Object)

3. The construction company is believed to have concluded 2 big contracts. -
C‘II/ITaGTC}I, 9TO CTPOHUTCIIbHAA KOMIIAHHA 3aKIIHOYHIIA 2 KPVIIHBIX KOHTpPAKTA.
(Complex Subject)

4. The language of the article turned out to be quite easy. - fI3bik craTtbu
OKasaJiICd MJOBOJIBHO ITPOCTBIM. JI3BIK cTaTbU OKazajics AOBOJIbBHO IIPOCTBIM.
(Complex Subject)

3ananme 6. [Tepenmumure npenoxxenus. [loguepkaUTEe TEpYHINN U OTIpEIe-
auTe ero QYHKIUIO B peajioxkenuu. [Ipeanoxxenns nepeseanre.

Model: His favorite occupation is reading. — Ero mroOmmoe 3aHsATHE —
gyreHHe (UuTath). (DYHKIHA — YACTh COCTABHOI0 CKa3yeMoro).

1. On being turned on the radar will warn the driver of stationary or slow-
moving objects on the road. - Ilpu BrIIOYEHMH pagap NPEAYNPEIUT BOIUTEISA O
HCIIOABUIKHBIX HWJIM MCIJICHHO ABMKYIIUXCA 00BEeKTax Ha Aopore. (q)yHKIII/ISI -
YacTh COCTABHOI'O CKA3yeMOro)

2. One of the problems modern research laboratories are working at is the
problem of finding materials that can serve as electrical conductors in fusion
reactors. - OpHoli w3 mnpoOieM, HaJg KOTOPOM padOTalOT COBPEMEHHBIE
HCCIIEA0OBATCIIbCKUEC Ha60paTOpI/II/I, ABJISACTCA HpO6J’ICMa IIOUCKa MaTcpualionB,
KOTOPBIC MOI'YT CIYXHUTb OJJIICKTPUYCCKUMU IIPOBOAHHUKAMH B TCPMOAACPHLIX
peakTopax. (DyHKIHS — 9acTh COCTABHOTO CKa3yeMOTo)

3. A constant speed of the device is maintained by supplying it with energy.
- [locTosiHHAsT CKOPOCTh pabOTHI YCTPOMCTBA MOMAJIEPKUBACTCS 3a CUET MOJAUYU B
Hero sHeprun. (Dyukiys JomnonHeHue)

4. He finished reading the book. - On 3akon4mn untath KHUTY. (DyHKIHS —
O IJIEIKAIIee)

5. It is important for industries to investigate the possibility of recovering
the millions of calories of heat that are lost every day. - IIpowmbliuieHHBIM
NpCAIpUATUAM BaXKHO HN3YYUTb BO3MOXHOCTH BOCCTAHOBJICHHA MHUIJIMOHOB
KaJOpUH TeIla, KOTOPbIE TEPSAIOTCA Kakablid JacHb. (®yHKOMS — 4YacTh
COCTAaBHOIO c1ca3yeM0r0)

3ananme 7. [lepenummTe U nepeBeIUTe yCIOBHbBIE IPEITIOKEHHUS.

1. I would never feel comfortable on a plane if | knew it's the pilot's maiden
trip.

2. A dog will never bite you if you look it straight in the eyes, I'm told

MHe ckazanu, yTo cobaka HUKOTAa HE YKYCUT Te0s, €CIU Thl TOCMOTPHUIIb
€l OpsIMO B TJ1a3a

3. The first thing I will do is drive to Spain if | get my driving licence.

IlepBoe, yto 4 cuenaro, - 310 noeny B Mcmanumio, ecnu momydy
BOIHUTCIBCKHUC IIPaBa.



3apanue 8. [IpounTaiiTe TEKCT, MEPENUIINUTE €r0 U MEPEBEIUTE MUCHMEHHO
1-11, 3-11 u 4-11 aG3albl.

Current electricity

1. If two equally and oppositely charged bodies are connected by a metallic
conductor such as a wire, the charges neutralize each other. This neutralization
iIs accomplished by means of a flow of electrons through the conductor from
the negatively charged body to the positively charged one. (In some branches
of electrical engineering, electric current has been conventionally assumed to flow
in the opposite direction, that is, from positive to negative.)

Ecnn ABa OJWMHAKOBO M IIPOTHBOIIOJIOKHO 3apsAKCHHBIX TCJIa COCIUHUTDL
MCTAJNIMYCCKHUM IIPOBOAHHUKOM, TAKHMM KaK IIPOBOJIOKA, 3apsAbl HeﬁTpaJII/ISYIOT
Apyr gpyra. Ota HGfITpEUIHS&L[PISI OCYHICCTBIICTCA IIOCPCACTBOM  IIOTOKaA
QJICKTPOHOB 1o IIPOBOAHUKY  OT OTPHULATCIIBHO 3apsAKCHHOT'O T€lla K
IMOJIOKUTCIIBHO  3aPsS’KCHHOMY. (B HCKOTOPBIX OTpPACIIAX  OJICKTPOTCXHUKH
TpaaAUuITUOHHO IIpCAIIoJIarajiocn, qTo Z)JIGKTpI/ILIeCKI/Iﬁ TOK TCUET B
IIPOTHUBOIIOJIOKHOM HaIrpaBJICHUMH, TO €CThb oT ITOJIOKUTCIIBHOT'O K
OTPHUIIATEIILHOMY. )

2. In any continuous system of conductors, electrons will flow from the
point of lowest potential to the point of highest potential. A system of this kind is
called an electric current. The current flowing in a circuit is described as direct current
(DC) if it flows continuously in one direction, and as alternating current (AC)
if it flows alternately in either direction.

3. Three interdependent quantities determine the flow of direct currents.
The first is the potential difference in the circuit, which is sometimes called
the electromotive force (emf) or voltage. The second is the rate of current flow.
This quantity is usually given in terms of the ampere, which corresponds to a flow
of about 6 250 000 000 000 000 000 electrons per sec past any point of the circuit.
The third quantity is the resistance of the circuit. Under ordinary conditions all
substances, conductors as well as nonconductors, offer some opposition to the flow
of an electric current, and this resistance necessarily limits the current. The unit
used for expressing the quantity of resistance is the ohm (V), which is defined
as the amount of resistance that will limit the flow of current to 1 amp, in a circuit
with a potential difference of 1 V. This relationship is known as Ohm’s law
and is named after the German physicist George Simon Ohm, who discovered
the law in 1827. Ohm’s law may be stated in the form of the algebraic equation
E =1 x R, in which E is the electromotive force in volts, | is the current in amperes,
and R is the resistance in ohms. From this equation any of the three quantities
for a given circuit can be calculated if the other two quantities are known. Another
formulation of Ohm’s law is | = E/R.



IToTox MOCTOSHHOrO TOKa ONnpCACEICTCA TPEMS B3aUMO3dBHCHUMbIMU
BCJIMYUHAMMU. Hemeﬁ - 9TO Pa3HOCTb IMOTCHIUAIOB B ICIIM, KOTOPYIO HHOIrA4d
Ha3bIBalOT dJekTponaBrkymas cuna (DC) unum nHanpspkenue. Bropoe - 3T0
CKOpPOCTDb IIPOTCKAHNA TOKA. Dra BeauurHa OOLIYHO BBIPpAKACTCA B aMIICpax, 4TO
COOTBETCTBYET MOTOKYy mpumepno 6 250 000 000 000 000 000 »1eKTpOHOB B
CEKYH]ly, MPOXOJSIIeMy uepe3 JII0OyI TOuKy menu. Tperbss BeaM4YMHA - 3TO
COIIPOTHUBJICHUC LICIIN. B 00B14HEBIX YCIIOBHAX BCC BCHICCTBA, KaK ITIPOBOAHHUKHN, TaK
u HCTIPOBOAHHKH, OKa3bIBarOT HCKOTOPOC COITPOTUBJICHUC IIPOTCKAHUIO
QJICKTPUYICCKOI'O TOKd, M I3TO COIIPOTHBIICHHC 00s13aTeIbHO OI'paHUYINBACT TOK.
EI[PIHI/IHGﬁ HU3MCPCHU, HCHOJIBBYGMOﬁ JJIA BBIPAKCHUA BCJIIMYHNHBI
CONpOTUBNICHUS, sBiseTcs oM (B), koTopbelii omnpenensercs Kak BeIUYHHA
COIIPOTHUBIJICHUS, KOTOpPas OIpaHUYHUT IPOTCKAHHWC TOKaA 10 1 aMII€pa B OCIIK C
pPa3HOCThIO TOTEHIManoB 1 B. DTo0 cooTHomeHne HM3BECTHO Kak 3akoH OMa u
Ha3BaHO B 4yecTh HeMelKkoro ¢usuka ['eopra Cumona Oma, KOTOPBIA OTKPBUI 3TOT
3akoH B 1827 romy. 3akoH Owma wMoxeT ObITh cOpMyIHpOBaH B BHUJE
anrebpanueckoro ypaBuenuss E = | * R, rne E - anexktponBuwkymas cuna B
BOJIbTAXx, | - Tok B aMIICpax, a R - COIIPOTHUBJICHHUC B OMax. N3 storo YpaBHCHUA
nmro0as u3 TPECX BCIMYUH IJIA I[aHHOﬁ CXEMbI MOJXKHO pacCUHHUTaTb, €CJIM N3BCCTHBLI
IBe npyrue BenudyuHbl. [pyras ¢popmynuposka 3akona Oma - | = E/R.

4. When an electric current flows through a wire, two important effects
can be observed: the temperature of the wire is raised, and a magnet or a compass
needle placed near the wire will be deflected, tending to point in a direction
perpendicular to the wire. As the current flows, the electrons making up the current
collide with the atoms of the conductor and give up energy, which appears
in the form of heat. The amount of energy expended in an electric circuit
IS expressed in terms of the joule.

Korna mo mpoBoay mpoTeKaeT 3JIeKTPUISCKUM TOK, MOKHO HaOJr01aTh ABa
BaXHBIX (¢ deKTa: MOBBIIMIACTCS TeMIeparypa MPOBOJA, U MArHUT WU CTPENKa
KOMIIaca, PacroJIOKCHHBIC PSAOM C TPOBOJOM, OYAYT OTKJIOHSTBCS, CTPEMSCh
yYKa3bplBaTb B HAIIPaBICHHUH, NEPHNEHIMKYJSIpHOM npoBoay. Korma tewer TOK,
9JICKTPOHBI, COCTABJIAIOIIMC TOK, CTAJKHBAIOTCA C aToMaMH IIPOBOJHHKA U
BBIACIIAAIOT SHEPTUIO, KOTOpasA NPOABIIACTCA B BUAC TCILIA. KomnuecTBo 9HCPIruu,
3aTPayMBaEMOM B JIEKTPUUECKOU LIEIN, BRIPAXKAETCS B JHKOYIISIX.

3ananue 9. ITucbMEHHO OTBETHTE HA BONPOCHl K BBIMIEIPUBEICHHOMY
TEKCTY.

1. In which direction electrons will flow in any continuous system of con-
ductors?

In any continuous system of conductors, electrons will flow from the point
of lowest potential to the point of highest potential.

2. What quantity is usually given in terms of the ampere?



This quantity is usually given in terms of the ampere, which corresponds to a
flow of about 6 250 000 000 000 000 000 electrons per sec past any point of the
circuit

3. How do we call the unit used for expressing the quantity of resistance?

The unit used for expressing the quantity of resistance is the ohm (V), which
is defined as the amount of resistance that will limit the flow of current to 1 amp,
in a circuit with a potential difference of 1 V

4. What can be observed when an electric current flows through a wire?

When an electric current flows through a wire, two important effects can be
observed: the temperature of the wire is raised, and a magnet or a compass needle
placed near the wire will be deflected, tending to point in a direction perpendicular
to the wire.

3ananue 10. Vcnone3ys TaHHBIE CIIOBA, COCTABHTE MIPEIIOKEHHUS:

1) of, second, the, is, rate, the, flow, current;

The current is flow of second the rate - Tok - 3T0 MOTOK €O BTOPOM
CKOPOCTBIO.

2) is, the, raised, temperature, of, the, wire;

The temperature is of the wire raised - Temmeparypa npoBOJIOKH MOBBIIIICHA

3) other, charges, the, each, neutralize.

The charges other neutralize each - 3apsap! npyr npyra HEHTpaTU3yIOT

3aganue 11. [TocTaBbTe NpeayiokeHUE B BOIIPOCUTEIBHYIO U OTPULIATENLHYIO

(bOpMBL.
The amount of energy expended in an electric circuit is expressed in terms of
the joule. - KommyectBo sHeprum, 3aTpayMBacMON B IJICKTPUYECKOM IIeMH,

BBIPAKACTCA B IXKOYJIIAX.

?. Is the amount of energy consumed in an electrical circuit expressed in
joules or not?

—: The amount of energy consumed in an electrical circuit is not expressed in
joules.



